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NEW QUESTION 1
What happens when the command getfattr afile is run while the file afile has no extended attributes set?

A. getfattr prints a warning and exits with a values of 0.
B. getfattr prints a warning and exits with a value of 1.
C. No output is produced and getfattr exits with a value of 0.
D. No outputs is produced and getfattr exits with a value of 1

Answer: C

NEW QUESTION 2
Linux Extended File Attributes are organized in namespaces. Which of the following names correspond to existing attribute namespaces? (Choose THREE correct
answers.)

A. default
B. system
C. owner
D. trusted
E. user

Answer: BDE

NEW QUESTION 3
Which of the following expressions are valid AlDE rules? (Choose TWO correct answers.)

A. !/var/run/.*
B. append: /var/log/*
C. /usr=all
D. #/bin/
E. /etc p+i+u+g

Answer: AE

NEW QUESTION 4
Which of the following resources of a shell and its child processes can be controlled by the Bash build-in command ulimit? (Choose THREE correct answers.)

A. The maximum size of written files
B. The maximum number of open file descriptors
C. The maximum number of newly created files
D. The maximum number of environment variables
E. The maximum number of user processes

Answer: ABE

NEW QUESTION 5
Which of the following database names can be used within a Name Service Switch (NSS) configuration file? (Choose THREE correct answers).

A. host
B. shadow
C. service
D. passwd
E. group

Answer: ACE

NEW QUESTION 6
Which of the following statements is true about chroot environments?

A. Symbolic links to data outside the chroot path are followed, making files and directories accessible
B. Hard links to files outside the chroot path are not followed, to increase security
C. The chroot path needs to contain all data required by the programs running in the chroot environment
D. Programs are not able to set a chroot path by using a function call, they have to use the command chroot
E. When using the command chroot, the started command is running in its own namespace and cannot communicate with other processes

Answer: C

NEW QUESTION 7
Which of the following statements are true regarding the certificate? (Choose THREE correct answers.)

A. This certificate belongs to a certification authority.
B. This certificate may be used to sign certificates of subordinate certification authorities.
C. This certificate may never be used to sign any other certificates
D. This certificate may be used to sign certificates that are not also a certification authority
E. This certificate will not be accepted by programs that do not understand the listed extension

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 303-200 Questions & Answers shared by Certleader
https://www.certleader.com/303-200-dumps.html (60 Q&As)

Answer: ABD

NEW QUESTION 8
Which option in an Apache HTTPD configuration file enables OCSP stapling? (Specify ONLY the option name without any values or parameters.)

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
httpd- ssl.conf

NEW QUESTION 9
Which of the following information, within a DNSSEC- signed zone, is signed by the key signing key?

A. The non-DNSSEC records like A, AAAA or MX
B. The zone signing key of the zone.
C. The RRSlG records of the zone.
D. The NSEC or NSEC3 records of the zone.
E. The DS records pointing to the zone

Answer: B

NEW QUESTION 10
Which of the following configuration options makes Apache HTTPD require a client certificate for authentication?

A. Limit valid-x509
B. SSLRequestClientCert always
C. Require valid-x509
D. SSLVerifyClient require
E. SSLPolicy valid-client-cert

Answer: D

NEW QUESTION 10
Which of the following practices are important for the security of private keys? (Choose TWO correct answers.)

A. Private keys should be created on the systems where they will be used and should never leave them.
B. private keys should be uploaded to public key servers.
C. Private keys should be included in X509 certificates.
D. Private keys should have a sufficient length for the algorithm used for key generation.
E. Private keys should always be stored as plain text files without any encryption.

Answer: CD

NEW QUESTION 11
Which DNS label points to the DANE information used to secure HTTPS connections to https://www.example.com/?

A. example.com
B. dane.www.example.com
C. soa.example com
D. www.example.com
E. _443_tcp.www example.com

Answer: E

NEW QUESTION 12
What is the purpose of lP sets?

A. They group together lP addresses that are assigned to the same network interfaces.
B. They group together lP addresses and networks that can be referenced by the network routing table.
C. They group together lP addresses that can be referenced by netfilter rules.
D. They group together lP and MAC addresses used by the neighbors on the local network.
E. They group together lP addresses and user names that can be referenced from /etc/hosts allow and /etc/hosts deny

Answer: C

NEW QUESTION 13
Which of the following terms refer to existing scan techniques with nmap? (Choose TWO correct answers.)

A. Xmas Scan
B. Zero Scan
C. FlN Scan
D. lP Scan

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 303-200 Questions & Answers shared by Certleader
https://www.certleader.com/303-200-dumps.html (60 Q&As)

E. UDP SYN Scan

Answer: AC

NEW QUESTION 18
Which of the following statements are valid wireshark capture filters? {Choose TWO correct answers.)

A. port range 10000:tcp-15000:tcp
B. port-range tcp 10000-15000
C. tcp portrange 10000-15000
D. portrange 10000/tcp-15000/tcp
E. portrange 10000-15000 and tcp

Answer: CE

NEW QUESTION 22
When OpenVPN sends a control packet to its peer, it expects an acknowledgement in 2 seconds by default. Which of the following options changes the timeout
period to 5 seconds?

A. -tls-timeout 5
B. -tls- timeout 500
C. -tls- timer 5
D. -tls- timer 500

Answer: A

NEW QUESTION 27
......
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